X A AN S

H #A: DA E

4

33+3.6—-3x

W] =

3
3.9+2><2+25><§+5=

5.7—5+5x%= %+2.1><5—8><3.7+2=
%—%x5+20><2.5+4= 3.9—4.7+5x§=
%—§><4—3.6= 4.8+%—4X%=
§+25><2.3+5—5x%= 3+3.2—4><%=

www.snowmath.com



https://www.snowmath.com

44 BU NI DY s 5

3 2
39+2x2+25x —+5= —=15-
2 5

11 139 7
o X5420%x25+4= """ =1]1—
3 12 12

N~

1 133 13
- Xx4-36=(——2)=(4—
> (55 = (C455)

1
2 30

2 1 29 2
—+25%x23+5=-5x-=—=9-
3 2 3 3

33+3.6—-3x

3+32—-4x

www.snowmath.com

Nl —

o

(\O]

7

2
5



https://www.snowmath.com

